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Instructions : (1) Write the Answers of any three question of following.

(2) Figures at right side indicate marks of particular question.

SECTION -1
1.  State the Meaning and Characteristics of Social Problem. 14
2. State the Meaning and Types of Social Problem. 14
3.  State the Meaning and Causes of Social Conformity. 14
4.  State the Meaning and Causes of Social Disorganization. 14
5. State the Meaning and Causes of AIDS Problem. 14
6.  State the Meaning and Impact of AIDS Problem. 14
7. State the Meaning and Nature of Youth. 14
8.  State the Meaning and Impact of Educational Unemployment. 14
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SECTION - 11

9.  Fill any four blanks of following :

(1)

(2)

3)

(4)

)

(6)

(7)

(8)
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The Problem of Dowry is a related with structure.
(Religion, Family, Educational)

Covid-19is a related problem.
(Development, Disorganization, Health)

Rationalization is a cause of
(Social Conformity, Social Deviation, Social Disorganization)

A breakdown in the Cultural Structure means .
(Anomie, Social Deviation, Social Disorganization)

AIDS Virus known as a .
(HIP, SIP, HIV)

World AIDS Day celebrated on
(1 December, 1 January, 1 March)

Educational Unemployment is a problem.
(Regional, National, Global)

Withdrawal syndrome is a related with problem.
(Educational Unemployment, Drugs Addiction, AIDS)



